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Q.1 \ uestions (A) (B) (C) (D)
(i) |2'scomplementof(1010107 1010110 | 1010101 | 0000011 |Noneof these
(ii) |DeMorgan's law states that; a.(bte)= at(btc)= | g+bh=ab |Noneofthese
' ab+ac (ath)# ¢
(iii) |rmdir command: Makes Removes | Copiesfile |Noneof these
directory | directory 1
(iv) [Computer virus is simply a; Discase Typeof | Computer |Noneofthese|
bacteria code
(v) |Klezisa; (GGame name | Hardware | Virus name | None of these
components
(vi) [Which is not a high level| FORTRAN | BASIC C+&C Assembly 7
language? language
(vii) | The third generation computers| Vacuum | Integrated | Transistors Micro
used: | tubes circuits ProCessors.
(viii) | The system bus is used to connect| CPU Main memory | Input/output |  All these -
which units? (RAM, ROM) |  devices o
(ix) |Which is a part of cnmputer CPU Memory Input / Allthese
system? - Output units ,
(x) |The keys on computer keyboard | Alpha nunieric | Numeric | Function Allthese |
are: keys keys i kezs :




